r 1/3 3A6H~3H28

SREmE oo/ ~
& @z kil
r E=71
i (3
TS % |07 | o0
e i)
[aLier i)
fJLi7ss | 39
[t i)
705 i)
ES-E W i)
[aries i)
a8 i)
fJLiso | 39
[ i)
T4 i)
TRE T [ JLiea | T
[iLess i)
[iLress i)
[iLreer i)
[iLes i)
To57 i)
AR [ JLiei0 ] i)
Lo i)
[iLess i)
[iLes0 i)
[iLese i)
To5a i)
TORHE % [JLie0r E
o0y KT
oo KT
[iLieor KT
o0y KT
[en KT
308 KT
[iiers KT
To7s KT
FE L0 3%
[iLeos KT
oo KT
[iieo KT
[iiere KT
e KT
et KT
308 KT
o1 KT
TORTHE ¥ | JLies £
[iLeas KT
[iLiear KT
[iLeay KT
et KT
o9 KT
L | KT
[iLieas KT
[iLress KT
o5 KT
oo KT
Tog6 KT
T TORTHE 3 [JLieor —
[iLees KT
[iLrees KT
[iLeer KT
e KT
[irers KT
o7 KT
o7 KT
ERER | s KT
[iLrees KT
[iLrees KT
[iLero KT
[Ciier KT
e KT
o7 KT
To7e £




r 1/3 3A6H~3H28

EREBHE 2015/1/9  ~

T

wE

FRER

H
&
o

FRER

L
£
ke

TR R

£33

TR R

3
E
#

7 TR R

EEBR




BEERE 2015/1/9  ~
RUAKS i
] 378 | 570 370
WEE pry-¢:1
RRCAE) =A% R CAE) % | J 26,000 26000
26,000 26,000
26,000 26,000
26,000 26,000
26,000 26,000
26,000 26,000
EZES 26,000 26,000
26,000 26,000
26,000 26,000
26,000 26,000
26,000 26,000
26,000 26,000
TR CAE) = &by EEAETE 28,000 28,000
28,000 28,000
28,000 28,000
28,000 28,000
28,000 28,000
28,000 28,000
RIGSE 28,000 28,000
28,000 28,000
28,000 28,000
28,000 28,000
28,000 28,000
28,000 28,000
RRCAE) R CRAE) % | J 21,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
[ £33 27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
RR(HH) =25 R [ J 27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
TR 27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
27,000 27,000
AR IE) =RERE R CAE) % | _J 28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
ERER 28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600
28,600 28,600




-
r E(5121 2HA1H~2H28
EEERE 2015/1/9
2/1-5. 2/12-28 2/6 2/7 2/8 2/9 2/10 2/11
E—
= wra | RN i EE@m | EE@W | ERE | ERE | SR@ | EE@
RECHAR)=X% RE(HBR) 001 2% ,000 00 ,000 .00 .000 .00
001 2% ,000 00 ,000 00 ,000 00
00 2% | %:15700 700 00 ,000 00 ,000 00/
101 2% |#+:15000, H:15500 ,000 001 500 10| 100 10|
001 2% | H:15.700. £:16,000, H:17.000 .000 00 ,000 70! ,000 00/
001 2% A ,000 00 000 70 ,000 00
K5 001 S ,000 501 ,000 00 .000 .00
001 % % ,000 501 ,000 00 ,000 00
00 2% |A: ,000 00 500 00 ,000 00/
001 H: ,000 00 500 00 ,000 000 |
501 % | &: 600 00 500 501 500 501
001 2% |& ,000 00 ,000 00 ,000 00
RR(HE) =R RRCHE) % 001 66% | <:15.700. £:16.300 ,700 30 ,000 00 .000 .00
0! 65% 7,000, H:15,000 400 0! ,000 0! ,300 0!
101 65% 200 10! 200 10! 100 10!
[ 65% 200 0! 200 0! 100 0!
001 66% 200 00 000 00 ,000 00!
0! 66% 200 0! ,000 0! ,000 0!
RIEZ 001 66% ,000 00 .000 00 .000 .00
0! 66% ,000 0! ,000 0! ,000 0!
00! 66% :16,000 500 00 ,000 00 ,000 00/
0! 63% t:15,500, H:17.000 ,000 50 ,000 0! 200 0!
201 63% 500, H:17.000 .000 501 000 20/ 200 201
0! 66% t:15,300, H:16.000 200 0! ,000 0! ,000 0!
RR(CHE) =/X RR(CHE) % 001 4 00 .500 00 .000 00 .000 .00
0! 4 500 7,00 ,000 0! ,000 0!
.00 4 500 7,00 ,000 00 ,000 00/
0! 1 00 500 7,00 ,000 0! ,000 0!
00 4 .000 500 501 ,000 00 ,000 00/
00 4 00 500 0! ,000 0! ,000 000 |
.50 2 H:16.000, £:16,500, +£:15,000, H:17,000 500 00 000 00 500 501
50 2 B £:15,000, £ H:17,000 ,000 0! 7,000 0! 500 500 |
501 2% | A+£:15000, % H:17.000 000 00 7,000 00 500 501
BAR 0 4% | £:15500, £:16,500 5,500 0! ,000 00 ,000 0!
00 % |A I 7.000 00/ ,000 501 ,000 00/
.20 [ 800 20 200 201 200 20|
.20 % |&: 800 200 800 200 200 20!
50 2% | A . B:17.000 500 0! 7,000 50 500 500 |
.50 2% | A . B:17.000 500 00 7,000 501 500 501
15,001 4% | F 500, H:17.000 500 5,50 7,000 5,50 5,000 5,00
16,501 60% |2 X 000 6,00 7,000 6,50 6,500 6,50
16.20 6% | 8900 7,000 6,00 7,000 6,20 200 20/
RR(CHE) == RR(CHE) % 14,00 66% |21 5,200 4,000 4,90 4,000 4,00 4,000 4,00
14,801 % |2t 3:14,300 300 30/ 4,300 4,80 4,800 4,80
14,801 4% | 414,700, +:15,000, H:14,300 4,700 00 4,300 4,80 4,800 4,80
14,001 6% | 2:14,500, H:15.500 4,500 4,00 500 4,00 4,000 4,00
14,001 66% | A%:14,500, H:16.000 4,500 4,00 ,000 450 4,000 4,00
14,001 66% |2 H:16,000 ,000 4,00 ,000 4,00 4,000 4,00
EEES 14,50 65% [ H:14.000, #:15,000, £:15.500 ,000 501 ,000 4,00 4,500 4,50
14,001 66% 4,000 4,00 4,000 4,00 4,000 4,00
14,001 66% 4,000 4,00 4,000 4,00 4,000 4,00
14,101 66% | 2:15,100, £:14,000, H:15,000 5,100 4,00 5,000 4,10 4,100 4,10
14,301 65% [£:15,600, £:14,000. H:16.000 5,600 4,00 6,000 430 4,300 430
14,000 66% |£:15.600. H:15,000 15.600 14,000 15,000 14,000 14,000 14,000




EEERAR

2015/1/9

7/12-28 772328
B0 — 3M7TA — 3{7B
A ks
e kel X FES kel
Fm CHE) = =8 FR AR | _J 68% 4 68% ,800. £:14,800
64% 2 65% 4900
64% 2 65% 4,300
68% 4 68% 3,600
67 +14,100, £:13.100, H:15,100 2 68% ,900, £:12.900
7 3,100, H:15,100 4 67% ,000, 1:12,900
EEES 7 #:14,100, £:14,600 4 69% 100, £:14,100
7! 13,100 4 67% ,600
68% 300 2 69% 400
66% 800 2 ; 67% 700, £:13,600
66% 800, H:15.300 45B 7 000 66% .200, +£:13,600
68% 5:14,800 4588 | 13,200 68% .200, +:13.100




rEEE 2HA6H~28

EE®AE - 2015/1/9  ~

STA 2/7 2/8 2/9 2/10 2/11

547A 547°A 347A 347A 347°A
= &a FH = = = = =

B A KRR EEE EEE EEE EEE EEEE
Fm CHE) = =8 FR AR | _J 28 EL AL 700 300 300 300 300
28 E Al 100 100 600 600 600
28 EL AL 700 100 600 600 600
28 E Al 800 600 300 300 300
28 EL AL 100 100 600 500 500
28 il 100 100 700 700 700
EEES 28 BRI 600 100 100 600 600
28 Al 800 100 700 700 700
28 EL AL 100 300 100 100 100
28 H A ,800 100 ,000 ,000 ,000
28 E AL 800 300 100 100 100
28 E Al 13,300 14,800 13,300 13,300 13,300




